

Laurent Expansion of q -Zeta Functions

Ahmed Salem*

Department of Basic Science, Faculty of Information Systems & Computer Science, October 6 University, Sixth of October City, Giza, Egypt

Received: 25 Jan. 2014, Revised: 26 Mar. 2014, Accepted: 28 Mar. 2014
Published online: 1 Jul. 2014

Abstract: The main purpose of this paper is to establish a Laurent expansion of Hurwitz and Riemann q -zeta functions by means of a slightly different version of the Euler-Maclaurin summation formula from what is usually given. Further results are also given.

Keywords: Hurwitz and Riemann q -zeta functions; Laurent expansion; Stieltjes constants.
Mathematics Subject Classification (2010): 11M41; 05A30; 41A58.

1 Introduction

The Hurwitz zeta-function $\zeta(s, a)$ is defined by

$$\zeta(s, a) = \sum_{n=0}^{\infty} \frac{1}{(n+a)^s} \tag{1.1}$$

where $\sigma = \Re(s) > 1$ and a is any complex number [1]. (Normally, it is assumed that $0 < a \leq 1$ in the definition of $\zeta(s, a)$). Observe that $\zeta(s, 1) = \zeta(s)$, where $\zeta(s)$ denotes the Riemann zeta-function. The function $\zeta(s, a)$ can be analytically continued into the entire complex s -plane and is holomorphic except for a simple pole at $s = 1$ with residue 1. In a neighbourhood of $s = 1$, $\zeta(s, a)$ has the Laurent expansion in powers of $s - 1$

$$\zeta(s, a) = \frac{1}{s-1} + \sum_{n=0}^{\infty} \frac{(-1)^n \gamma_n(a)}{n!} (s-1)^n \tag{1.2}$$

where the quantities $\gamma_n(a)$ are known as the generalized Stieltjes constants which are given by the limit [2]

$$\gamma_n(a) = \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{\log^n(k+a)}{k+a} - \frac{\log^{n+1}(m+a)}{n+1} \right] \tag{1.3}$$

and when $n = 0$, we have $\gamma_0(a) = -\psi(a)$ where $\psi(a)$ is the digamma function. When $a = 1$ the expansion (1.2) reduces to the Laurent expansion of the Riemann zeta function

$$\zeta(s) = \frac{1}{s-1} + \sum_{n=0}^{\infty} \frac{(-1)^n \gamma_n}{n!} (s-1)^n \tag{1.4}$$

where $\gamma_n = \gamma_n(1)$ is the (ordinary) Stieltjes constants.

Tsumura [3] defined q -analogue of the Hurwitz zeta function for a complex number s and $0 < a \leq 1, 0 < q < 1$ as

$$\zeta_q(s, a) = \sum_{n=0}^{\infty} \frac{q^{-n-1}}{(q^{-n-1}[n]_q + aq^{-1})^s} \tag{1.5}$$

where $[x]_q = (1 - q^x)/(1 - q)$. When $a = 1$, $\zeta_q(s, a)$ reduces to the Riemann q -zeta function

$$\zeta_q(s) = \sum_{n=1}^{\infty} \frac{q^{-n}}{(q^{-n}[n]_q)^s} \tag{1.6}$$

the right-hand side of this series converges when $\Re(s) > 1$. Tsumura proved that the series $\zeta_q(s)$ converges when $\Re(s) > 1$. $\zeta_q(s)$ may be analytically continued to the whole complex plane, except for a simple pole at $s = 1$ with residue $(q - 1)/\log q$ (see also [4, 5]). He defined q -zeta functions (1.5) and (1.6) for $0 < q < 1$, but we see that the two series in the right hand sides of (1.5) and (1.6) converge absolutely for $|q| < 1$ and thus we will consider $|q| < 1$ throughout this paper.

In this paper, we are seeking to establish a Laurent expansion of Hurwitz and Riemann q -zeta functions by means of a slightly different version of the Euler-Maclaurin summation formula from what is usually given. Let ℓ is a natural number and $f(t)$ is a smooth function defined for all real numbers t between α and ℓ , then

$$\sum_{\alpha < k \leq \ell} f(k) = \int_{\alpha}^{\ell} f(t) dt + \sum_{k=1}^{\ell} (-1)^k \frac{B_k}{k!} f^{(k-1)}(\ell) + \sum_{k=1}^{\ell} (-1)^{k+1} P_k(\alpha) f^{(k-1)}(\alpha) + R_{\ell} \tag{1.7}$$

* Corresponding author e-mail: ahmedsalem74@hotmail.com

where the reminder term R_ℓ is defined as

$$R_\ell = (-1)^{\ell+1} \int_\alpha^n P_\ell(t) f^{(\ell)}(t) dt$$

Here, B_k denotes the k th Bernoulli number, and $P_k(t)$ is the k th periodic Bernoulli function defined by

$$P_k(t) = \frac{1}{k!} B_k(\{t\}) \quad \text{with} \quad P_1(t) = B_1(\{t\}) = \{t\} - \frac{1}{2}$$

where $B_k(t)$ is the k th Bernoulli polynomial and $\{t\}$ is the fractional part of the real number t .

2 Integral representation of q -zeta functions

In [2], Berndt introduced some representations for the Hurwitz zeta function. He gave integral representation of the Hurwitz zeta function $\zeta(s, a)$ as follows

$$\zeta(s, a) = \frac{a^{1-s}}{s-1} + \frac{a^{-s}}{2} - s \int_0^\infty \frac{\{t\} - 1/2}{(t+a)^{s+1}} dt \quad (2.1)$$

He also gave classical formulae related to Hurwitz zeta function and Lerch's expression $\ln \Gamma(a) = \zeta'(0, a) - \zeta'(0)$. In the present section, we are seeking to establish integral representations of q -zeta functions which tend to the Berndt's results.

Theorem 2.1.

For $0 < a \leq 1, m \leq \alpha < m + 1; m = 0, 1, 2, \dots$ and $\sigma > 1$, the Hurwitz q -zeta function (1.5) can be represented in the integral form as

$$\zeta_q(s, a) = \sum_{k=0}^m \frac{q^{(k+1)(s-1)}}{([k]_q + aq^k)^s} + \frac{q-1}{\log q} \frac{1}{s-1} \frac{q^{(\alpha+1)(s-1)}}{([\alpha]_q + aq^\alpha)^{s-1}} + \frac{q^{(\alpha+1)(s-1)}}{([\alpha]_q + aq^\alpha)^s} \left(\{\alpha\} - \frac{1}{2} \right) + \int_\alpha^\infty \frac{q^{-2(t+1)}(\{t\} - 1/2)((a-aq-1)q^t + 1 - s)}{(q^{-t-1}[t]_q + aq^{-1})^{s+1}} dt \quad (2.2)$$

In particular, when $a = 1$, the Riemann q -zeta function has the integral form

$$\zeta_q(s) = \sum_{k=0}^m \frac{q^{(k+1)(s-1)}}{[k+1]_q^s} + \frac{q-1}{\log q} \frac{1}{s-1} \frac{q^{(\alpha+1)(s-1)}}{[\alpha+1]_q^{s-1}} + \frac{q^{(\alpha+1)(s-1)}}{[\alpha+1]_q^s} \left(\{\alpha\} - \frac{1}{2} \right) + \int_{\alpha+1}^\infty \frac{q^{-2t}(\{t\} - 1/2)(1-s-q^t)}{(q^{-t}[t]_q)^{s+1}} dt \quad (2.3)$$

Proof. Let the smooth function

$$f(t) = \frac{q^{-t-1}}{(q^{-t-1}[t]_q + aq^{-1})^s} \quad (2.4)$$

and $\ell = 1$ in Euler-Maclaurin summation formula (1.7). Then

$$\sum_{k=m+1}^n f(k) = \int_\alpha^n f(t) dt - B_1 f(n) + P_1(\alpha) f(\alpha) + \int_\alpha^n P_1(t) f'(t) dt$$

If $\sigma > 1$, upon letting $n \rightarrow \infty$ and after some simple calculations, we obtain the integral representation (2.2).

The integral representation (2.3) can be obtained by putting $a = 1$ in (2.2) with changing the variable of the integral from $t + 1$ to t . This ends the proof.

The integral representation (2.2) of Hurwitz q -zeta function can be rewritten in different forms by assigning various values of α . Some of these integral representations are listed below

I) For $0 < a \leq 1, \alpha = 1 - a$ and $\sigma > 1$, the Hurwitz q -zeta function (1.5) can be represented in the integral form as

$$\zeta_q(s, [a]_q) = \frac{q^{s-1}}{[a]_q^s} + \frac{q-1}{\log q} \frac{q^{-a(s-1)}}{s-1} + q^{-a(s-1)} \left(\{1-a\} - \frac{1}{2} \right) + \int_{1-a}^\infty \frac{q^{-2(t+1)}(\{t\} - 1/2)(1-s-q^{t+a})}{(q^{-t-1}[t+a]_q)^{s+1}} dt \quad (2.5)$$

which appears in Berndt [[2](5.2),] as $q \rightarrow 1$ and if we put $a = 1$, we return to (2.3) when $\alpha = 0$.

II) For $0 < a \leq 1, \alpha = m = 0$ and $\sigma > 1$, the Hurwitz q -zeta function (1.5) can be represented in the integral form as

$$\zeta_q(s, a) = \frac{q^{s-1}}{2a^s} + \frac{q-1}{\log q} \frac{1}{s-1} \frac{q^{s-1}}{a^{s-1}} + \int_0^\infty \frac{q^{-2(t+1)}(\{t\} - 1/2)((a-aq-1)q^t + 1 - s)}{(q^{-t-1}[t]_q + aq^{-1})^{s+1}} dt \quad (2.6)$$

$$= \frac{q^{s-1}}{a^s} + \frac{q-1}{\log q} \frac{1}{s-1} \frac{q^{s-1}}{a^{s-1}} + \int_0^\infty \frac{q^{-2(t+1)}\{t\}((a-aq-1)q^t + 1 - s)}{(q^{-t-1}[t]_q + aq^{-1})^{s+1}} dt \quad (2.7)$$

which tends to (2.1) as $q \rightarrow 1$.

3 Laurent expansion

In the present section, we are seeking to provide Laurent expansion of q -zeta functions. To do this, let the integral

$$I(s; q) = \int_0^\infty \frac{q^{-2(t+1)}\{t\}((a-aq-1)q^t + 1 - s)}{(q^{-t-1}[t]_q + aq^{-1})^{s+1}} dt, \quad \sigma > 1 \quad (3.1)$$

which can be rewritten as

$$I(s; q) = \int_0^\infty \frac{q^{(t+1)(s-1)}\{t\}((a-aq-1)q^t + 1 - s)}{([t]_q + aq^t)^{s+1}} dt, \quad \sigma > 1 \quad (3.2)$$

Unfortunately, this integral just converges for $\sigma > 1$ due to exist the factor $q^{t(s-1)}$ in the integral $I(s; q)$ unlike what happens in the classical case where if $q \rightarrow 1$, the integral $I(s, 1)$ converges by analytic continuation for $\sigma > -1$ (see, Berndt [2]). In contrast to the situation of Berndt, this does not help much and indeed we want to establish an equivalent form to $I(s; q)$ which can be continued analytically.

Lemma 3.1 The integral $I(s; q)$ defined by (3.1) can be expanded in the series

$$I(s; q) = \frac{q-1}{\log q} \frac{1}{s-1} - \frac{q-1}{\log q} \frac{1}{s-1} \frac{q^{s-1}}{a^{s-1}} - \frac{q^{s-1}}{a^s} + \sum_{n=0}^\infty \frac{(-1)^n (s-1)^n}{n!} \lim_{m \rightarrow \infty} \sum_{k=0}^m \frac{\log^n(q^{-k-1}[k]_q + aq^{-1})}{[k]_q + aq^k} - \frac{q-1}{\log q} \frac{\log^{n+1}(q^{-m-1}[m]_q + aq^{-1})}{n+1} dt \quad (3.3)$$

which is continued meromorphically to the whole complex s -plane except at the point $s = 1$.

Proof. Let $f(t)$ be the function defined by (2.4). Then

$$\begin{aligned} I(s; q) &= \int_0^\infty \{t\} f'(t) dt = \sum_{k=1}^\infty \int_{k-1}^k \{t\} f'(t) dt \\ &= \sum_{k=1}^\infty \int_{k-1}^k (t-k+1) f'(t) dt = \sum_{k=1}^\infty \left[f(k) - \int_{k-1}^k f(t) dt \right] \\ &= \sum_{k=1}^\infty \left[\frac{e^{-(s-1)\log(q^{-k-1}[k]_q + aq^{-1})}}{[k]_q + aq^k} - \int_{k-1}^k \frac{e^{-(s-1)\log(q^{-l-1}[l]_q + aq^{-1})}}{[l]_q + aq^l} dt \right] \\ &= \sum_{n=0}^\infty \frac{(-1)^n (s-1)^n}{n!} \lim_{m \rightarrow \infty} \left[\sum_{k=1}^m \frac{\log^n(q^{-k-1}[k]_q + aq^{-1})}{[k]_q + aq^k} - \sum_{k=1}^m \int_{k-1}^k \frac{\log^n(q^{-l-1}[l]_q + aq^{-1})}{[l]_q + aq^l} dt \right] \end{aligned}$$

By virtue of convergence of the exponential function everywhere, the summation and limit were permuted in the previous relation. Now we are interested in calculating the inner integral to obtain

$$\begin{aligned} I(s; q) &= \sum_{n=0}^\infty \frac{(-1)^n (s-1)^n}{n!} \left[\frac{q-1 \log^{n+1}(aq^{-1})}{\log q} - \frac{\log^n(aq^{-1})}{a} \right] \\ &+ \sum_{n=0}^\infty \frac{(-1)^n (s-1)^n}{n!} \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{\log^n(q^{-k-1}[k]_q + aq^{-1})}{[k]_q + aq^k} - \frac{q-1 \log^{n+1}(q^{-m-1}[m]_q + aq^{-1})}{\log q} \right] \\ &= \frac{q-1}{\log q} \frac{1}{s-1} - \frac{q-1}{\log q} \frac{1}{s-1} \frac{q^{-1}}{a^{s-1}} - \frac{q^{s-1}}{a^s} \\ &+ \sum_{n=0}^\infty \frac{(-1)^n (s-1)^n}{n!} \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{\log^n(q^{-k-1}[k]_q + aq^{-1})}{[k]_q + aq^k} - \frac{q-1 \log^{n+1}(q^{-m-1}[m]_q + aq^{-1})}{\log q} \right] \end{aligned}$$

It is obvious that the previous series is continued meromorphically to the whole complex s -plane except at the point $s = 1$ and so the integral $I(s; q)$. This completes the proof.

By inserting the relation (3.3) into the relation (2.7) with noting that the Laurent expansion for any function (if exists) is unique, the main theorem in this paper can be formulated as follows

Theorem 3.2. The Hurwitz q -zeta function $\zeta_q(s, a)$ can be continued meromorphically to the whole complex s -plane and that it has a simple pole at $s = 1$ with residue $(q - 1)/\log q$. Moreover, it can be expanded in the Laurent expansion as

$$\zeta_q(s, a) = \frac{q-1}{\log q} \frac{1}{s-1} + \sum_{n=0}^\infty \frac{(-1)^n (s-1)^n}{n!} \gamma_n(a; q) \quad (3.4)$$

where

$$\gamma_n(a; q) = \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{\log^n(q^{-k-1}[k]_q + aq^{-1})}{[k]_q + aq^k} - \frac{q-1 \log^{n+1}(q^{-m-1}[m]_q + aq^{-1})}{\log q} \right] \quad (3.5)$$

Remark 3.3. It is known that the Hurwitz q -zeta function $\zeta_q(s, a)$ tends to the Hurwitz zeta function $\zeta(s, a)$ as $q \rightarrow 1$ and thus the expansion (3.4) tends to the expansion (1.4) as $q \rightarrow 1$, consequently $\gamma_n(a; q)$ tend to the generalized Stieltjes constants $\gamma_n(a)$ defined by (1.4) for all $n = 0, 1, 2, \dots$. This means that $\gamma_n(a; q)$ can be said to have q -analogue of the generalized Stieltjes constants $\gamma_n(a)$ for all $n = 0, 1, 2, \dots$.

Corollary 3.4. The Reimann q -zeta function $\zeta_q(s)$ can be continued meromorphically to the whole complex s -plane and that it has a simple pole at $s = 1$ with residue

$(q - 1)/\log q$. Moreover, it can be expanded in the Laurent expansion as

$$\zeta_q(s) = \frac{q-1}{\log q} \frac{1}{s-1} + \sum_{n=0}^\infty \frac{(-1)^n (s-1)^n}{n!} \gamma_n(q) \quad (3.6)$$

where

$$\gamma_n(q) = \gamma_n(1, q) = \lim_{m \rightarrow \infty} \left[\sum_{k=1}^m \frac{\log^n(q^{-k}[k]_q)}{[k]_q} - \frac{q-1 \log^{n+1}(q^{-m}[m]_q)}{\log q} \right] \quad (3.7)$$

The q -digamma function $\psi_q(z)$ is defined as the logarithmic derivative of the q -gamma function [6]

$$\psi_q(z) = \frac{d}{dz} (\ln \Gamma_q(z)) = \frac{\Gamma'_q(z)}{\Gamma_q(z)}$$

where $\Gamma_q(z)$ is the q -gamma function defined as

$$\Gamma_q(z) = \frac{(q; q)_\infty}{(q^z; q)_\infty} (1-q)^{1-z}, \quad z \neq 0, -1, -2, \dots$$

Therefore, the q -digamma function $\psi_q(z)$ can be expressed as

$$\psi_q(z) = -\ln(1-q) + \frac{\ln q}{1-q} \sum_{n=0}^\infty \frac{q^{n+z}}{[n+z]_q}, \quad z \neq 0, -1, -2, \dots$$

For more details on the q -digamma function, see [7] which presented some properties and expansions associated with the q -digamma function.

Theorem 3.5. For $0 < a \leq 1$, we have

$$\gamma_0([a]_q; q) = \frac{1-q}{\log q} \psi_q(a). \quad (3.8)$$

Proof. From (3.5), we have

$$\begin{aligned} \gamma_0([a]_q; q) &= \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{1}{[k]_q + [a]_q q^k} - \frac{q-1 \log(q^{-m-1}[m]_q + [a]_q q^{-1})}{\log q} \right] \\ &= \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{1}{[a+k]_q} - \frac{q-1}{\log q} \log(q^{-m-1}[a+m]_q) \right] \\ &= \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{1 - q^{a+k} + q^{a+k}}{[a+k]_q} - (1-q)(m+1) - \frac{q-1}{\log q} \log([a+m]_q) \right] \\ &= \lim_{m \rightarrow \infty} \left[\sum_{k=0}^m \frac{q^{a+k}}{[a+k]_q} - \frac{q-1}{\log q} \log([a+m]_q) \right] \\ &= \sum_{k=0}^\infty \frac{q^{a+k}}{[a+k]_q} - \frac{1-q}{\log q} \log(1-q) = \frac{1-q}{\log q} \psi_q(a). \end{aligned}$$

This ends the proof.

From the Laurent expansion of the Hurwitz q -zeta function (3.4) and the relation (3.8), we can deduce that

$$\lim_{s \rightarrow 1} \left[\zeta_q(s, [a]_q) - \frac{q-1}{\log q} \frac{1}{s-1} \right] = \gamma_0([a]_q; q) = \frac{1-q}{\log q} \psi_q(a). \quad (3.9)$$

In particular, when $a = 1$, we get

$$\lim_{s \rightarrow 1} \left[\zeta_q(s) - \frac{q-1}{\log q} \frac{1}{s-1} \right] = \gamma_0(q) = \frac{1-q}{\log q} \psi_q(1) = \gamma_q \quad (3.10)$$

where γ_q is the q -analogue of the Euler-Mascheroni constant defined by

$$\gamma_q = \sum_{k=1}^{\infty} \frac{q^k}{[k]_q} - \frac{1-q}{\ln q} \ln(1-q) = \lim_{m \rightarrow \infty} \left[\sum_{k=1}^m \frac{q^k}{[k]_q} - \frac{q-1}{\ln q} \ln[m]_q \right]. \quad (3.11)$$

which tends to the Euler-Mascheroni constant γ as $q \rightarrow 1$ [8].

References

- [1] T.M. Apostol, An introduction to analytic number theory, New York, Springer-Verlag, (1995).
- [2] B.C. Berndt, On the Hurwitz zeta-function, Rocky Mountain J. Math., **2**, 151-157 (1972).
- [3] H. Tsumura, A note on q -analogue of the Dirichlet series and q -Bernoulli numbers, J. Number Theory, **39**, 251-256 (1991).
- [4] M. Kaneko, N. Kurokawa, M. Wakayama, A variation of Eulers approach to values of the Riemann zeta function, Kyushu J. Math., **57**, 175192 (2003).
- [5] Y. Simsek, q -Dedekind type sums related to q -zeta function and basic L-series, J. Math. Anal. Appl., **318**, 333-351 (2006).
- [6] C. Krattenthaler, H.M. Srivastava, Summations for basic hypergeometric series involving a q -analogue of the digamma function, Computers Math. Applic., **32**, 73-91 (1996).
- [7] A. Salem, Some Properties and Expansions Associated with q -Digamma Function, Quaest. math., **36**, 67-77 (2013).
- [8] A. Salem, A q -analogue of the exponential integral, Afrika Matematika, **24**, 117-125 (2013)



Ahmed Salem received the PhD degree in Pure Mathematics 2006 from Ain Shams University, Egypt. His research interests are in the areas of q -series and q -special functions. He has published research articles in different reputed international scientific journals and is a member of different working groups. He is associate Professor of pure Mathematics, Department of basic science, Faculty of Information System & Computer Science, October 6 University, Egypt. He is referee of many mathematical journals.